
  
Breite = 3,7 
 
Höhe = 3,3 

 
Breite = 8,7 

 

Tabellenbreite 

für alle Tabellen   = 25,7 

¶ 

  
Breite = 8,4 
 
Höhe = 3 

 
 

 
                  Breite = 8,3 

 
 

 

¶ 

  
 

  
 

                          

H = 1                              

¶ 
¶ 

1,3 3,5 1,0 4,5  1,5 1,3 3,5 1,0 4,5  

 
  

 
       

           

¶ 
¶ 

  
Tabulatoren bei 1,5 / 10,5 / 18,25; Zeilenhöhe = Höhe = 2,5 
alternative Tabelle mit 3 Spalten  

 

0,8 

Breite = 1,0 Breite = 1,0 

Höhe = 1,0 / 1,3 / 1,0 

Breite automatisch ! 


